Warm Up 5-11
	Find the volume of a cube with a side length of 1 ½ feet.  ( V = s3)






	Write an inequality:

You have to be at least 48 inches to ride the roller coaster.  

	Evaluate:

73  
	Solve if a = 5

2a3 – a2







Warm Up 5-12
	Write an inequality:
You have at most $40 to spend
	Find the volume of a rectangular prism with a length of 8 feet, width of 20 feet and a height of 10 feet.  (V=LWH)




	Find the median:
78, 82, 94, 80, 76, 78 
	True or false

b + b + b = 3b







Warm Up 5-13
	





	Find the volume of a cube that has a side of ¾  inches.

	Solve

7a = 56 
	Find 20% of 30?









Warm Up 5-14
	103 – 4 ( 52 + 27 ÷ 3)





	True or false:  Traveling 300 miles in 6 hours is the same rate as traveling 220 miles in 4 hours?




	Find the area of the below triangle  (A = ½ bh)

6 ft


                          8.5 ft
	Find the mean

8, 14, 6, 20, 16
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